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Margin of Exposure

1ARC
NOAEL or
LOAEL
/kg/d x
NOAEL 0.25 mg/kg/day Hokg'esy
0011 0031 pgkg/day 810 2,300 o
1 |107-13-1 25 3 a
. A
LOAEL 077 mgm® Hg/m
1.9 ;,1g/m3 41 A
11 /kg/d 2,500 o
NOAEL 28 mag/kg/day 11 ug/kg/day 2500
. s o
2 ]103-23-1 2- 0021 Hg 93 Yy
A 1/ x
g/’ Hg/m
0.27 ;,1g/m3 X
/kg/d x
mo/kg/day uglkglday
X
3 [|75-21-8 0.38 = g3 = 1,100
NOAEL 043  mg/m® : “g/m3 ' °
pg/m x
/kg/d x
NOAEL 0.13  mg/kg/day Hokgesy
0.020 0040 pg/kg/day 330 650 o
4 |75-01-4 11 3 o
. A
LOAEL 056 mg/m® “g/m3
pg/m x
/kg/d x
NOAEL 0.25 mg/kg/day l.lg/kg/day
X
5 |32536-52-0 Hg 93 Y
X
NOAEL 002 mgm® “g/m3
pg/m x
<4.0 /kg/d > 38 x
NOAEL A/G 15  mg/kg/day Hokg'eey
0.0004 4.0 pg/kg/day 38 380,000 x
6 |140-66-9 4-t- 0.0007 3
<0. 1/ x
g/’ Hg m3
pg/m x
3.6 /kg/d 36 A
LOAEL |[GPT 13 mg/kg/day 24 l.lg/kg/day =
. A
7 |67-66-3 a7 Mg 93 d o
. A
NOAEL 43  mgm’ Hg/m
13 |,1g/m3 33 A
/kg/d x
mofkg/day 0.0072 'Jg/kg/day
8 X
8 [108-05-4 29 = g3 = 1,100
NOAEL 31 mgm® . “g/m3 ' °
pg/m x
/kg/d x
NOAEL 9.6 mg/kg/day 040 l.lg/kg/day 2200
< 0. > 2,
9 |123-91-1 14- 0.45 = g3 > 18,000 ;
NOAEL 83  mgm® : “glng ! °
pg/m x
< 0.024 /kg/d > 24,000 )
NOREL 58 mokglday 0.17 ug/kg/day 3,400
<0. > 3, o
10 |107-06-2 1,2- - Mg 93 ay =
NOAEL |ALT LDH AST 83  mgm® : Hg/m °
12 |,1g/m3 69 A
/kg/d x
NOAEL 1,000 mg/kg/day Hokgesy
0.000047  0.02 pg/kg/day 5,000,000  2,100,000,000 o
11 |1163-19-5 3
/m x
g/’ Hg g
pg/m x
pa/kg/day x
mofkg/day 0.0052 0.0067 /kg/d x
12 198-95-3 . 0.11 = g3 = 11,000
NOAEL 12 mgm® : “g/m3 ' °
pg/m x
<40 /kg/d >25 x
NOAEL 1.0 mg/kg/day Hokg'esy
0.012 40 pg/kg/day 25 8,300 X
13 |25154-52-3 0.0021 3
<0. /m’ x
g/’ Hg g
pg/m x

820Mmy/L




